I] H AI]E VESA Landscape/Portrait

VATIONS Installation Instructions

ﬁ

IMPORTANT -
DO NOT LOOSEN WING KNOB
BEFORE INSTALLING!
Install the Landscape/Portrait VESA Plate or the QR-L/P Receiver Plate to the spigot mount with
the provided 1/4-20 Flat Head Countersunk screws before loosening the wing knab.

1/4-20 Flat Head Countersunk Screws are provided at different lengths for various installs of the
L/P or QR-L/P Plate to either our MMS Spigot Monitor Mount or to our Whaley Rail Clamp.

MMS09/MMS12/MMS11/MMS11-MC Whaley Rail Clamp
Spigot Monitor Mount Whaley Rail Clamp Spacer (#13585) is required
Use provided 1/4-20 x 3/4 SS Flat Head Screws Use provided 1/4-20 x 1-3/4 Alloy Flat Head Screws

Once installed to spigot mount and with monitor attached,
check landscape/portrait friction.”

For friction adjustment on the landscape to portrait swing
movement, use a 3mm Hex key to adjust via the set screw.

*When checking friction without monitor attached, the friction
preset will seem difficult to adjust. Note this is due to the
absence of the leverage that the monitor provides. Always best
to check with monitor attached.

For Upgrade Innovations monitor mounts. Always check load rating of monitor mount. All mounting and installation
shall conform to FD manufacturer and VESA Flat Display Mounting Interface (FDMI) Standard



